Probability Practice Problems 
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The square dart board shown below has a side that measures 40 inches. The shaded portion in the
center is a square whose side is 15 inches. A dart thrown at the board is equally likely to land on
any point on the dartboard.

40 inches

15 inches

Find the probablity that a dart hitting the board will not land in the shaded arca.
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The spinner shown in the diagram below is divided into six equal
sections.

Which outcome is least likely to occur on a single spin?
(1) an odd number (3) aperfect square
(2) a prime number (4) anumber divisible by 2
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The bull's-eye of a darthoard has a radius of 2 inches and the entire
board has a radius of 9 inches, as shown in the diagram below:

1£a dartis thrown and hits the board, what i the probality that the
dart will land in the bulls-cye?
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Three storage bins contain colored blocks. Bin 1 contains 15 red and 14 blue blocks. Bin 2

contains 16 white and 15 blue blocls. Bin 3 contains 15 red and 15 white blocks. All of the blocks
from the three bins are placed into one box.

1f one block is randomly selected from the box, which color block would most likely be picked?
Justify your answer.
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Three high school juniors, Reese, Matthew, and Chris, are running
for student council president. A survey is taken a week before the
election asking 40 students which candidate they will vote for in the
“ejéction. The results are shown in the table below.

Number of
Candidate’s | Students
Name Supporting
Candidate
Reese 15
Matthew 13
Chris 12

Based on the table, what is the probability that a student will vote for
Reese?
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Jon is buying tickets for himself for two concerts. For the jazz concert, 4 tickets are available in the
front row, and 32 tickets. hre available in the other rows. For the orchestra concert, 3 tickets are

available in the front row, and 23 tickets are available in the other rows. Jon is randomly assigned
one ticket for each concert.

Determine the concert for which he is more likely to get a front-row ticket. Justify your answer.
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Maria has a set of 10 index cards labeled with the digits 0 through 9.
She puts them in a bag and selects one at random. The outcome that
is most likely to occur is selecting

(1) an odd number

(2) aprime number

(3) anumber that is at most 5

(4) anumber that is divisible by 3
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A spinner that is equally divided into eight numbered sectors is spun
20 times. The table below shows the number of times the arrow
landed in cach numbered sector:

Spinner | Number
Sector | of Times
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Based on the table, what is tho empirical probability that the spinner
will land on a prime number on the next spin?
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